Compton's Effect: Wave length “apparent” Visual Contraction

By Professor Joe Nahhas

Proof: If actual motion is r then time visual motion is S  where S = r Exp[ỉ ω t] caused by light aberrations visual effects as follows:

Exp [ỉ ω t] = [cosine ω t + ỉ sine ω t]; From S = r Exp [ỉ ω t] we can show that 

It changes to: S = r {√ [1-(v/c) ²] - ỉ (v/c)}

                          = r {√ [1-(v/c) ²] - ỉ (v/c)}

                          = S x + ỉ S y 

Where S x = √ [1- sine² arc tan (v/c)]; And S y = cosine arc tan (v/c)

With v/c << 1 then; Where S x = √ [1- sine² arc tan (v/c)]; And S y = cosine arc tan (v/c)

In absolute value S = r

Along the line of measurement:  S x = r √ [1-(v/c) ²]  

This the equation for length contraction of Lorentz's used in Einstein's theories

But it is the light aberrations visual effects and it is "apparent and not real 

Universal Mechanics solution

All there is in the universe is objects of mass m at a location r = r (x, y, z). The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 

P = d S/d t = m (d r/d t) + (dm/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = speed = d r/d t; m' = mass change rate

F = d P/d t = d²S/dt² = Total force

   = m (d²r/dt²) +2(dm/d t)(d r/d t) + (d²m/dt²)r

   = m γ + 2m'v +m"r; γ = acceleration; m'' = mass acceleration rate

In polar coordinates system

We have r = r r (1) Where r = location and r (1) unit vector in r direction

 And v = r' r (1) + r θ' θ (1) Where v = velocity vector and θ (1) is unit tangent 

And γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1) where γ = acceleration vector

Then 

F = m [(r"-rθ'²) r (1) + (2r'θ' + r θ") θ (1)] + 2m'[r' r (1) + r θ' θ (1)] + (m" r) r (1)

  = [d²(m r)/dt² - (m r)θ'²]r(1) + (1/m r)[d(m²r²θ')/d t]θ(1) = [-GmM/r²]r(1)

Proof:

With r = r [cosine θ î + sin r θ Ĵ] = r r (1)

And r (1) = cosine θ î + sine θ Ĵ 

Then v = d r/d t = r' r (1) + r d[r (1)]/d t

            = r' r (1) + r θ'[- sine θ î + cosine θ Ĵ]

           = r' r (1) + r θ' θ (1)

And θ (1) = -sine θ î +cosine θ Ĵ; r (1) = cosine θ î + sine θ Ĵ

Then d [θ (1)]/d t= θ' [- cosine θ î - sine θ Ĵ= - θ' r (1)  

And d [r (1)]/d t = θ' [-sine θ î + cosine θ Ĵ] = θ' θ (1) 

With γ = d [r' r (1) + r θ' θ (1)] /d t 

And    = r" r (1) + r'd[r (1)]/d t + r' θ' r (1) + r θ" r (1) +r θ'd [θ (1)]/d t

Then γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)

Now d² (m r)/dt² - (m r) θ'² = 0   Newton's Gravitational Equation     (1)

And d (m²r²θ')/d t = 0                 Central force law                              (2)

With m = constant

(2): d (r²θ')/d t = 0 <=> r²θ' = h 

Now d (r²θ')/d t = 0

Or 2rr'θ' + r²θ" = 0

Dividing by r²θ' to get 2(r'/r) + (θ"/θ') = 0

This differential equation has a solution:

With 2(r'/r) = 2[λ (r) + ì ω (r)]; λ (r) + ì ω (r) = constant complex number; λ (r) and ω (r)

Are real numbers 

Now r (θ, t) = r (θ, 0) r (0, t) = r (θ, 0) Exp [λ(r) + ì ω(r)] t      

And r (0, t) = Exp [λ(r) + ỉ ω (r)] t ----------------------------------------- (3)

Now (1): d² r/d t² -  r θ'² = 0

 Lt r =1/u

Then d r/d t = -u'/u² = -(1/u²)(θ')d u/d θ = (- θ'/u²) d u/d θ = - d u/d θ

And d² r/d t² = - h θ' d²u/d θ² = - h u² [d²u/d θ²]

And -h u² [d²u/d θ²] - (1/u) (h u²)² = 0

And [d²u/ d θ²] + u = 0

The solution u = A Exp (ỉ θ) ------------------------------------------------- (4) 

In general r = (θ, t) = A Exp (í θ)] {Exp [λ(r) + ỉ ω(r)] t}                                   

Or r (θ, t) = r (θ, 0) r (0, t) = A Exp [λ(r)] Exp (í θ)] Exp ỉ ω(r)] t  

And r = (θ, t) = A Exp [λ(r)] Exp í [θ + ω(r) t]  ------------------------ (5)

If λ(r) = 0 and θ = 0

Then r = A Exp ỉ ω(r)] t = r (0) Exp [ỉ ω(r)] t

With r = r (0) - d r = r (0) [cosine ω (r) t + ỉ sine ω (r) t]

And d r(0) =  r (0) [ 1 – cosine ω(r)t] - ỉ r (0) sine ω (r) t 

Along the line of sight

d r = r (0) [1 – cosine ω t] 

Or d λ = λ (0) [1 – cosine φ];φ = ω t  

With d λ = λ (0) [1 – cosine φ]  

With λ (0) = h/mc; h = plank's constant; m = mass; c = light speed

Finally d λ = h/mc [1 – cosine φ] 

This is a visual “apparent” wavelength contraction/expansion effects known as Compton's  effect  
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